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Ethylene (Tabla C.1, S&VN)
h= 1.424
B= 1.439E-02 K’

. C=  -4302E-06 K2
“"‘LJL“‘d T D= -

n= 10 mol
T =135k Tos 47315 K
= 1;11311_:1,'"5 R= 8.314 Jimal*K
AH = Q/n = BOO/O = BOO0O Jmeal
CALCULATE:
1= TifTa
T, 3 {u'ri%f <C,>w/R (at 1)
- K] -] [] .
e B75.15 7423 B e B
! 1644 25 3.475 11.238 '
1320.37 2.810 10.561
NEXT GUESS: 1384.28 2.926 10.700
T:=To* AHIR'[<C2y/R]] | 1372.44 2,801 10.671
with: 1374.90 2.006 10677
= [=Cp=H/R] at 1, from abova | 1374.35 2805 10,676
C 1374.49 2.605 10,676
1374 47 2.905 . 10676
1374 .48 2,905 10.676
" 1374 47 2,905 10.676
"Eﬂ?—mm" —— > 137447 2.905 10.676
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